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QID : 1 - In the following question, select the related word pair from the given alternatives.
Red : Colour::?:?

rATaf@d e & fow 1w fashedt 7 & Gl ereg oo 1 GiAT|

Options:

1) Sun : Heat

& at

2) Earth : Planet

gy : IE

3) Land : Solid

A3

4) Water : Drink

ECERIG

Correct Answer: Earth : Planet
g2y : g

Candidate Answer: Earth : Planet
gt : E

QID : 2 - In the following question, select the related word pair from the given alternatives.
Square:Four::?:?

PrAfaf@a e & fow 1v fashedt # & Gefiid ereg o 1 gfav|

A :aR::?2:?

Options:

1) Rectangle : Five

3T ;O

2) Hexagon : Seven

SIS : AT

3) Rhombus : Six

AT : B8

4) Triangle : Three

Correct Answer: Triangle : Three
Candidate Answer: Triangle : Three

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book : ?
T 92 & feu 977 fasheul & @ Hefta oree; 1 giAT]

Hﬂ':q&T::g'Faa?:?
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Options:
1) Pages
I3
2) Bind
Sreg
3) Writer
ereca
4) Pen
heTH
Correct Answer: Pages
gss

c
Candidate Answer: Pages
gss

(4

QID : 4 - In the following question, select the related letters from the given alternatives.

TRAP : YWFU : : FROG : ?
PrATaf@d e & fow 1w fashet 7 & Fefia 371&RT I giav|

TRAP : YWFU :: FROG : ?
Options:
1) KHLG

2) KWTL
3) WKLH

4) FGHL
Correct Answer: KWTL
Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, select the related letters from the given alternatives.

FAN:MZU::LIP:?
ATl e & fow 1w fashedt 7 & Fafda 37&RT I giav)

FAN:MZU::LIP:?

Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

Candidate Answer: [ NOT ANSWERED ]

QID : 6 - In the following question, select the related letters from the given alternatives.
AM:FR::LQ:?
Rrafaf@a gea & v a1e fsredi # & Fefia 3Rt a1 gfav

AM:FR::LQ:?
Options:
1) HQ

2) NP
3) Qv

4) LS
Correct Answer: QV
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 2/58
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QID : 7 - In the following question, select the related number from the given alternatives.
46:24::54:7?
fRrfaf@a yea # v arv fashedt # & Hafra dear r gfav|

46:24::54:7?
Options:

1) 30

2) 24

3) 20

4) 36
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 8 - In the following question, select the related number from the given alternatives.
11:24::23:?
TPrATAfae eat 3 few 1w fashout 7 & Feferd Fear 1 v

11:24::23:?
Options:

1) 42

2) 36

3) 54

4) 58
Correct Answer: 36
Candidate Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.
5:15::7:?
rATAf gea # fow 1w fasheut 7 & Feferd dEar 1 giav|

5:15::7:?
Options:

1) 28

2)21

3)37

4) 25
Correct Answer: 21
Candidate Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

ArATAfad gea # faT 1e fashedt 7 @ fawe eree g7 1 giav|
Options:

1) Pen — Write

FolH — forgaTr

2) Ball = Play.

g — YT

3) Food - Eat

HISTeT — WT=T

4) Pencil - Stationery

GRAeT — o ATy

Correct Answer: Pencil - Stationery
GReT — orgel AT

Candidate Answer: Pencil - Stationery

9ffer — or@eT e

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 3/58
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QID : 11 - In the following question, select the odd word from the given alternatives.

ATl gea & fow 1w fasheut 7 & fawe eree 1 faiw)
Options:

1) Road

Hseh

2) Truck

<h

3) Car

SR

4) Scooter

Fhe

Correct Answer: Road
ELD

Candidate Answer: Road
RELD

QID : 12 - In the following question, select the odd word from the given alternatives.

TrATafa ge & fow 1w fasheut 7 & fawe eree; 1 faw|

Options:
1) Rice
BICE)

2) Wheat

g;)EMaize
Haranl
4) Crop
HhdeT

Correct Answer: Crop
el

Candidate Answer: Crop
HhdeT

QID : 13 - In the following question, select the odd letters from the given alternatives.

rATAf e # fow 1w fashout 7 & fawer 31eRT 1 giav|
Options:

1) GIM

2) HKN

3) MPS

4) NQU
Correct Answer: NQU
Candidate Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

TR 9eaT & fou 97v fashedt & & fawe 31eRi &1 giav|

Options:
1) LQVA

2) AFKQ
3) CHMR

4) MRWB
Correct Answer: AFKQ
Candidate Answer: AFKQ

QID : 15 - In the following question, select the odd letters from the given alternatives.

T e & 13U 91 fashoul & & fawe 31eRi &1 giav|

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 4/58
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Options:
1) VRNJ

2) CYUQ
3) KGCX

4) SOKG
Correct Answer: KGCX
Candidate Answer: KGCX

QID : 16 - In the following question, select the odd number from the given alternatives.

PrAfafad e  fow e fashedt 7 & fawer dear & giav|
Options:

1)2-12

2)5-28

3)4-24

4)3-18

Correct Answer: 5 — 28

Candidate Answer: 5 — 28

QID : 17 - In the following question, select the odd number from the given alternatives.

TR 92T & fou 91¢ fashoul & & fawey dear &1 gi=v|
Options:

1)11-13

2)13-17

3)17-19

4)11-15

Correct Answer: 11 — 15

Candidate Answer: 11 - 15

QID : 18 - In the following question, select the odd number pair from the given alternatives.

feFaforie yea #f 74U a1v fashedt & & faws wear gva #1 giav|
Options:
1)4-12

2)5-15
3)6-18

4)9-29
Correct Answer: 9 — 29
Candidate Answer: 9 — 29

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2. Singing
3. Secure
4, Sickle
5. Secured

TFATATR ereal T Qregshier # 3= aTel shef & AR fordd |

1. Series
2. Singing
3. Secure
4, Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124

Correct Answer: 35142
Candidate Answer: 35142

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 5/58
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QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4, Drink
5. Drama

AT ersal T ersaahier # e aTel e & TR fordd|

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

Options:
1) 35421
2) 35412
3) 35214
4) 35241

Correct Answer: 35412

Candidate Answer: 35412

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Price

2. Prize

3. Police

4. Paint
5. Prawn

T ereel T Aseehier # 3T dTel hef & AR fordd |

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

Options:
1) 45123
2) 45213
3) 43521

4) 43512
Correct Answer: 43512
Candidate Answer: 43512

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AG, FM, KS, PY, ?

T 3egshe T o §, Toes & U ue ofedl €1 1T 91¢ fashoul & & a5 @Y faehed YT, St 31gshat ot 1 e |

AG, FM, KS, PY, ?

Options:

1) RM

2) UE

3)1Q

4) YA
Correct Answer: UE
Candidate Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ALK, VGF, QBA, ?, GRQ

Teh 3ol ferm a1 &, TSreet & wh e ofedt &1 1w 91T faehedt o & g Wel fashed T, it 31efsha sl Our Y|

ALK, VGF, QBA, ?, GRQ

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 6/58
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Options:
1) KST

2) ARP
3) CXD

4) LWV
Correct Answer: LWV
Candidate Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KPD, QVJ, WBP, CHV, ?
T 31efha T I B, T d & Uk ug ofed 81 v arv fasedl & & a8 @Y ke gfaiw, S sigsha @ g |

KPD, QVJ, WBP, CHV, ?
Options:
1) INB

2) GXF
3) ICM

4) Z2DQ
Correct Answer: INB
Candidate Answer: [ NOT ANSWERED ]

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7,11, 63, 27, 215,?,?
efaf@a yea 7 T a1v fashedl & & ofcd 37k 71 HIfaIv |

3,7,11, 63, 27, 215,?,?

Options:

1) 47, 513

2) 51, 511

3) 51,513

4) 47, 511

Correct Answer: 51, 511

Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, select the missing number from the given alternatives.

18, 45, 112.5, ?, 703.125
el e  fow 1w fasheut 7 & ood 3ieh +A1d HIoIT|

18, 45, 112.5, ?, 703.125
Options:

1) 217.5

2) 262.25

3) 281.25

4) 273.75

Correct Answer: 281.25
Candidate Answer:.[ NOT ANSWERED ]

QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?
T 92T & foU 977 fashodl & & ofcd 31 AT SIS

30, 68, 130, 222, 350, ?
Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 7/58
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Candidate Answer: [ NOT ANSWERED ]

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

TS CD &S MN ¥ BIeT §, @S MN TS TR & BIcT &, €S AB &S CD & Bier & 3R @S MN TS PQ ¥ OieT §| HaH BICT TS &l AT 87

Options:

1) CD

2) MN

3)PQ

4) AB
Correct Answer: AB
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A, B % el & Trar &t 5ig 1 T §1 3R B & T &7 hlg 81 761 &, 1 A, B & v g deifeia &2
Options:

1) grand-daughter

9T

2) daughter

Ca

3) mother

AT

4) sister

CRo

Correct Answer: sister
Ero

Candidate Answer: grand-daughter
el
QID : 30 - From the given alternative words select the word which cannot be formed, using the letters of the given word.

RECUPERATE

ol fawed! 3 & a5 oeg IfAT ST faw o0 ereg 3 76T AT TATT e 161 SoTaT ST WeheT:
RECUPERATE

Options:

1) acute

2) trace

3) price

4) erupt
Correct Answer: price
Candidate Answer: erupt

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

fg TUESDAY &1 %3 # VWGUFCA for@r ST § af COW &Y &i3 & &7 fardar

Options:
1) EQY

2) XLD
3) BNV

4) DPX
Correct Answer: EQY
Candidate Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun', 9527 means 'act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun'.

TRy TR i 99T 7 2369 F7 312 § 'master class is fun', 9527 T 318 § 'act is class apart' 31k 1349 &r 37T & 'we have fun class'l 'fun' & faIT ®i5 AT FL

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 8/58
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Options:
1)2

2)6
3)3

4)9
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

o [N

QID : 33 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

16-25x40+60+15="7?

R ARTT P T & '+, -~ A eRTHarg, ', X H IGRiaadr g, ', '+' # ueRid &dr g 3R '+, '+' & eRkid war ¢ Reafaf@d uraar 3cav A1d Hi1?

16-25x40+60+15="7?

Options:

1) 14

2)72

3)55

4) 63

Correct Answer: 55

Candidate Answer: [ NOT ANSWERED ]

QID:34-1f72$20 =46 and 1 $ 27 = 14 then find the value of 10 $ 44 = ?

I 72420 =46 3R 1$27 = 1441 10 $ 44 = ? & AH AT FL?
Options:

1) 34

2) 54

3)27

4) 17

Correct Answer: 27

Candidate Answer: 27

QID: 35-If A$ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does P # Q $ R * S mean?

TRASBHHTERHA BHAGIE, A#BHRHTETHA BHATMS T ATARMA*BH IR HA BHF AT al P # Q § R* S o7 o 31 82

Options:

1) P is father of S

P, S Rarg

2) P is father's father of S

P, S & far & Rar &

3) P is brother of S

P, SIS &

4)Pissonof S

PS&HYTE

Correct Answer: P is brother of S
P,SHT S &

Candidate Answer: P is brother of S

P,SH HIS &

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c
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QID: 36 -

Select the missing number from the given responses

ferg g et 3 & ow T gy

7

B
N

-J
o

Options:
1)2

2) 11
3)1

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
TrATAf & & ier @1 ug &1 972 G & A & AR §?

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA
Candidate Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns
South and walks another 15 m, then he turns East and'walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

QITTRiaT AT 3 A Fat AT Teh SATFA AT Slol ol SR 50 HEX Ieak T 3R o A1 &1 T g a1 31 5 15 #eX Tl &1 38 916 Tg STAT0T Y 3R F3HT 15
Hie =refaT 8, T @ 25 Hiex qd 1 3R Tefdr g 31 R gfaIor Y 317 gga 35 Hie deh ooial &1 379 a8 319+ g fufa & fhe fRufa we?
Options:

1) 10 m West

10 #Hiex gfgas

2) 10 m East

10 e g

3) 40 m East

40 e qd

4) 40 m West

40 Fex IiRgH

Correct Answer: 10 m East

10 e g

Candidate Answer: 10 m East

10 AT &

QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns
West and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

ar gg Ol Teh € g & =rofelr IR X B 1 & A, 12 Rreafiex fator & 3R =refelr & 31X TRt a1$ 3% s 7 Rheiafiex wrorar §1 & B, 7 fvelieiex aféior & 3ik wrerar
& 3R T afFes i 3R F 9 Thaliefel = B, R 3rdeh a1$ 3R gt 5 fhelieiex Trefar §1 & B & dest # & A gl 872

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 10/58
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Options:

1) 16 km West

16 fercitdATex afRa#d
2) 2 km East

2 fraefer @@

3) 2 km West

2 foratiaiex aftas
4) 16 km East

16 fereiefiex q&
Correct Answer: 16 km East
16 fraieter g@

Candidate Answer: 16 km West

16 frali#ex afRas

QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs
Statement II: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

IR F & FUT X T & TP 3mY oY fasay 1 31K 11 Ferrer I &1 31T9eh! AT § o g1t el T § I8 a8 AT AT, a2dt & f&ee v g el 3maent T
FAT § N T a0 Tsanst 7 F wla-an/Hia-3 HRad T A FUT aRT TEY BTl ST Tehel &/Td §, I PS8

T I: IS Tl ool 161 &
FU II: Fo el Ay

o 1: @ et wiemerdy &

farssd I1: weft Aramery Fodl &

Options:

1) Only conclusion I follows

Facl fsry 1T &

2) Only conclusion II follows

hae sy 11 Ter g

3) Both conclusions I and II follow

gt forsehy I 3R I |eT &

4) Neither conclusion I nor conclusion II follows

AT A TSRy I ey & &1 &) sy 11

Correct Answer: Neither conclusion I nor conclusion II follows

AT A sy 1 Tg & =1 &) TSy 11
Candidate Answer: [ NOT ANSWERED ]

QID : 41 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. Youhave to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement II: Some alloy is bronze
Statement III: Some zinc is alloy

Conclusion I: Some zinc is.bronze
Conclusion II: Some copperis zinc
Conclusion III: some-alloy is copper

A F AT hua A T g 3me i sy 1, 11 317 111 fAehrel 713 & 3M9eh! AT & 77 Al FUeT Tcd § 91 98 Teead: A a2l & Hiest udid 8l gl
3TeRt fAoT e §/<hr T 91w farserst o & sla-an/Hla-3 fAfRad &7 F F2e gary Gy fAewren s dwar g/asa €, i A e

FYA I: FIS el TiaT 781 &
FUT IL: & 1] Ao &
FU III: F e u1g &

e Ik Fo Srear i &
s II: %o dfer ST @
fashd II1: Fo urq dieT &

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 11/58
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Options:

1) Only conclusions I and II follow

hae oy [ AR I T &

2) Only conclusions II and III follow

ol fasewy 11 3R 111 T &

3) All conclusions I, II and III follow
At s 1, 11 3R I adr &

4) None of the conclusions follow

et sy 1, 11 3R 101 |y =18t &

Correct Answer: None of the conclusions follow

et fFsend 1, 11 3] I ey a1t &
Candidate Answer: [ NOT ANSWERED ]

QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frforRad STR SAapfcr & & I T B Y 1Y 7
3TTpfer F ot ° | a1 el T HehdT?

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 12/58
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Options:

1)
2)

=

3)

e

4)

€ 3 >

Correct Answer:

Lo

Candidate Answer: [ NOT ANSWERED ]

QID: 43 -

Which of the following answerfigure patterns
can be combined to make the question figure?

Frrfefae S ampfer % S < ftrd) o
Girge A U T TG %1 AT AT e £7

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 13/58
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Options:
1)

2)

3) ;

4) .

Correct Answer:

Candidate Answer:

QID: 44 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

Frrferfiam fomr & o, oeoiFieT @ vefig e &,
Prger et 1 wefdia wear 2, g, Afersl @ ek
airerer it ot wefia aear Bisteri @ St W wiE
AT Y nefie e & 9T a1 Oy W

& o & &7

E H

Options:
1) FHGI

2) DEIA
3) IBFG

4) FHI
Correct Answer: FHI
Candidate Answer: FHI

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 14/58
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QID: 45 -

Which of the following Venn diagrams represents the
relationship between Pencils, Pens and Writing
instruments 7

fr=ferRaa 5 § o9 w1 39 Uftaew, U= 3iik forg= &t
T & e Gay g &7

Options:
1)

=

2)

©)

3)

4)

©

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 15/58
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QID: 46 -

Which answer figure will complete the pattern in the
question figure?

FrIfeTRad ¥ & PH-HT ITR Sl W APl & Hieey
I R HIT?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 16/58
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QID:47-

From the given answer figures, select the one in which
the question figure is hidden/fembedded.

&1 TRt STR ARl H I 37t I AT T wH
e frfee &1

Options:
1)

2)

3)

4)

Correct Answer:
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Candidate Answer:

QID : 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

% Tl 7 fERITY SR BT Bl ISR I
BE PR AT T & F1S I8 b Ik el ST
s &

[ ——

Options:
1)

2)

OopA0O

3)

4)

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 18/58
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Correct Answer:

N7
) q
P B

Fain}

Candidate Answer:

N7
) q
P K

Fain}

QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

gfe Ues YT T MN T O g1 17 &7 &) =Y IR

SMPRTAT & H DI STPIT T4 TPy T Fal
ufcrfers grfte
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Options:
1)

2)

3)

4)

& & W K

Correct Answer:

%

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 20/58
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QID : 50 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-Il are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example 'C" can
be represented by 31, 43 etc and "W can be represented by 76, 89 etc.
Similarly, you have to identify the set for the word 'SODA'

e 9Te et U ST w1 SuaT T B, S o et 7 9 fevedt v o
Ty B Rt & g o e el & ot g suiy e B, St
e T = STeEl H §1 TeE-1 % TP 1R iR &1 TR 0 ¥ 4 3R SregE- @
5% 9 B 51 armeel & ve arer o) geer Swdh Atk it g 8 sy den e
g1 ST W B SRR & O 'C' T 31, 43 Al g7 2ufar o Hedr & qe
W' BT 76, 89 I FIRT SATET T T 81 T TE ¥ Ty wH ¥ v em
*SODA’ ¥ 1 T &1 qagrHT 21

Matrix| HT=E Matrix || SATeE-|

0 1 2 3 4 5 6 | 7 B g
0 1 G 1 A H 5 5 Q R T i
1 i A o B L & 5 T T u a
] B D & F L 7 T W W 5 T
3 L C G B B g u] R 0 T w
4 B K B C B || 9 Q P T 5 by

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33

4) 98,69,22,14
Correct Answer: 78,87,12,03
Candidate Answer: 78,87,12,03

QID : 51 - By what name is the BRICS bank presently known?

SFa S a1 adA= 7 T A1 § ST ST 82
Options:

1) BRICS Development Bank

foora faere §

2) Afro-Asia Development Bank

3) New Development Bank

= SaeluHT s

4) No option is correct.

18 fashoT /T 81 8.

Correct Answer: New Development Bank
g SaeluHc dh

Candidate Answer: [ NOT ANSWERED ]

QID : 52 - Whatdoes parallel economy mean?

FHATATAR. T ITTELT FT FIT e §?
Options:

1) Black Money

EarcInic)

2) Parallel Business

FATACR SR

3) Illegal Economy

3% reTaTaT

4) No option is correct.

F1S [ereq TgY 78T 2.
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Correct Answer: Black Money
el Yol

Candidate Answer: No option is correct.

1S fashoT T 18T 8.

QID : 53 - Who implements monetary policy in India?

R # Ao AfeY et wirey L §?
Options:

1) NITI Aayog

AT 3T

2) RBI

TR Rerd d

3) Ministry of Finance
EGEGEICE

4) Parliament

TS

Correct Answer: RBI
R Rerd d
Candidate Answer: RBI
HRAT Rerd 9

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC FTaTS T T T §1 ARDC T X1 &9 3T 87

Options:

1) Agricultural Research and Development Corporation

2) Agriculture and River Development Cooperation

FP 3R A ey T

3) Agricultural Reform and Development Cooperation

FY GUR 3R e Fgr

4) Agricultural Refinance and Development Corporation

P grafded 3R faehre foera

Correct Answer: Agricultural Refinance and Development Corporation
Y qafdca 3R fawra e

Candidate Answer: Agricultural Refinance and Development Corporation

Y gaafded 3R fawr oere

QID : 55 - Which of the following is a part of machinery that settles industrial disputes?

Ffafad & & i ar A= 1 v e § S AiegifEs Aaret &1 fAgerT & &2
Options:

1) Labour Court

HH FIE

2) Industrial Tribunal

e fesgster

3) Work Committee

F wfafa

4) All options are correct.

T [AheT TEl 8.

Correct Answer: All'options are correct.

ol fasheT Hel 8.

Candidate Answer: All options are correct.

T FFeT aeT &

QID : 56 - In which year Nagaland was created as separate state?

TR AT AR Y 3o T & & H TATIT I1AT AT?
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Options:
1) 1961

2) 1962
3) 1963

4) 1964
Correct Answer: 1963
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Which one of the following is responsible for the preparation and presentation of Union Budget?

T # & it Harg dofe T AR AR Tegicr & fow fSeeR &2
Options:

1) Department of Economic Affairs

3T ATEE & femeT

2) Department of Revenue

Tered fasmer

3) Department of Expenditure

=g fasmT

4) No option is correct.

1S [ereq TEY 78T 2.

Correct Answer: Department of Economic Affairs
3 AT F e

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

AR T TITUTT THT T Tgell Soeh T IETETAT fehdial ol 21?
Options:

1) Dr Rajendra Prasad

3 Toig TS

2) Dr Sachchidanand Sinha

st afeaarie et

3) B R Ambedkar

& 3R 39z

4) Sardar Patel

HEGR ueeT

Correct Answer: Dr Sachchidanand Sinha
st afTage Mg

Candidate Answer: B R Ambedkar

& 3R 38

QID : 59 - Which of the following was not adopted, from the Maurya Dynasty in the emblem of Government of India?

R THR & I & Rrafaf@d & @ Hia AT gor & 3r9=mmar =1F arar 2m?
Options:

1) Satyameva Jayate

L EGER D

2) Bull

die

3) Horse

BIE

4) Four Lions

IR MW

Correct Answer: Satyameva Jayate

HcIAT FTA
Candidate Answer: [ NOT ANSWERED ]

QID : 60 - The first session of Constituent Assembly of India was held in which of the following cities?

mﬁﬁﬁmﬂqmwmmﬁmﬁ@aﬁﬁmzmﬁ?ﬁw
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Options:
1) Bombay

EEE

2) Madras

HorH

3) Culcutta

helehedl

4) Delhi

e

Correct Answer: Delhi

feeel

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - Which of the following is the best example of Vijaynagar Art?

faf@a & & i a1 ATITIR Fell T TG 3TST 361607 87

Options:
1) Ajanta

ﬁ!:’,
Ié
o
3
k-]

3) Puri

-ho-/_gp

) Sanchi

3

orrect Answer: Hampi

3

Candidate Answer: Puri

‘%

QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?

16 HAgTSI=TIGT 7 & foraenr Tareneir qerfrer oAr?
Options:

1) Kosala

Frere

2) Kuru

N

3) Vaiji

afeer

4) Gandhara

YR

Correct Answer: Gandhara
IMUR

Candidate Answer: [ NOT ANSWERED 1}

QID : 63 - Who was founder of Mughal Empire in India?

AR H FITT FTHISY T HEYTA HieT AT?
Options:

1) Babur

EICEY

2) Humayun

3) Akbar

3HhaT

4) Jahangir

SR

Correct Answer: Babur
EIGEs

Candidate Answer: Babur
EICEY

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c
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QID : 64 - Where did Vasco da Gama arrive in India in 1498?

qIEehT 3 AT 1498 H HRA H gl 37T AT?
Options:

1) Madras

Hord

2) Calcutta

Fefehedl

3) Calicut

Flellehe

4) Bombay

EES)

Correct Answer: Calicut

FTolhe

Candidate Answer: Calcutta
Helehedl

QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

AR T H & AR, F=iaiad 7 & fha fafeer i df femm arar ar?
Options:

1) Mysore

Ay

2) Hampi

gy

3) Kannur

X

4) Malabar
EIIEIRS

Correct Answer: Malabar
ATATER

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - By what name is the Ganga known in Bangladesh?

TG H I T AT FIAT §7?
Options:

1) Padma

qsT

2) Ganga

I

3) Damodar

CAE IR

4) Meghna

HEEAT

Correct Answer: Padma
s

Candidate Answer: Meghna

AEET

QID : 67 - Which of the following are not kharif crops?

T3 U PieT T WD B o161 &7
Options:

1) Maize and-Rice

HFHT AT

2) Arhar and Soyabean

3T 3N W

3) Wheat and Barley

ag 3tk st

4) Ragi and Groundnut

Tt 3R FHaTOR

Correct Answer: Wheat and Barley

% 3R 3t

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 25/58



15/02/2018 Staff Selection Commision

Candidate Answer: Maize and Rice
FHarept 3R T

QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

75T o he; T Tl ST o ToIT fehctor 7ehtll TRAGAT T 3MTareTehal gl 7

Options:

1)3

2)4

3)5

4)6

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 69 - Madhya Pradesh shares its border with how many States?

HEY YA fohcal TSAT & HT 31911 AT FTSAT AT 87
Options:

1)5

2) 4

3)6

4)3
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

QID : 70 - Palghat joins which of the following states?

qrergTe fArAfaf@d & & e Tt &1 fAerar 82
Options:

1) Goa and Maharashtra

e 3R AR

2) Kerala and Karnataka

el AR Fetlesn

3) Tamil Nadu and Kerala

Affrerrg 3R el

4) Mizoram and Manipur

i 31k AT

Correct Answer: Tamil Nadu and Kerala
affreTs 3R e

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - Which of the following authorities regulates NPS?

T # O Ty 1 RfATHET i Farg?
Options:

1) IRDA

IMEIRET

2) PFRDA

fTHEIRST

3) CAG

Hroair

4) SEBI

|l

Correct.Answer: PFRDA
fTHEIRET

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

R aTfordl 1 TerFd R & foT 5937 O Sl AT e TS A= 82
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Options:
1) SAKSHAM
HeTH
2) ABLA
dell
3) SABLA
el
4) BBBPS
EICIEISINES

Correct Answer: SABLA
el

Candidate Answer: BBBPS
CICICISILgs

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

frfaf@a # @ fohaer Aradn i 3pd Fiepias fawred Hr afafafer e & gy do o anffer e g2
Options:

1) WHO

Seeguas

2) UNCTAD

FUARETS

3) ADB

iR ey d&

4) UNESCO

Bl

Correct Answer: UNESCO
TIEHT

Candidate Answer: UNESCO
porsa)

o~

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

SR 3 e 318 3ifh Feter 1S & AETUS & & #F Ry Forgerar fomam e €2
Options:

1) MV Sridhar

THAT AR

2) Saba Karim

e A

3) Rahul Johri

g Sitedr

4) Anurag Thakur

ST SN

Correct Answer: Saba Karim

T FOF
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - FIFA World Cup 2022 will be held in which country?

BT faed T 2022 e ger 7 smafora foRar seem?
Options:

1) Russia

R3]

2) Spain

T

3) Ukrain

et

4) Qatar

$hd¥

Correct Answer: Qatar
¥

Candidate Answer: Qatar
FR
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QID : 76 - "The Idea of Justice" is written by

"g MR 3t Ffew” _ carr faEr s §)
Options:

1) Ravindra Singh

faws RiE

2) Mamta Banerjee

HHAAT STt

3) Amartya Sen

IFE T

4) Abhinav Bindra

31T fowgr

Correct Answer: Amartya Sen

IAE BT
Candidate Answer: [ NOT ANSWERED ]

QID : 77 - Which author has been made Companion of Honour on December 12, 2017?

eHFaR 12, 2017 & 5 @/ ATHHT T HeEuferasT 31T 3T =137 137 8§72
Options:

1) J. K. Rowling

S, &, Ufeler

2) Roald Dahl

A37Tes 3T

3) Charlotte Bronte

Trelfe siee

4) Jane Austen

I 3t

Correct Answer: J. K. Rowling

S, . Ufeler
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - 315t Surajkund International Crafts Mela has begun at which of the following city?

311 FITHS RGN Ried Fell forfafld & & fha QTeT & e g3 ar?
Options:

1) Faridabad

RRICAEICY

2) Jaipur

SRR

3) New Delhi

5 Rl

4) Jaisalmer

SR

Correct Answer: Faridabad

TG

Candidate Answer: Faridabad

wEETE

QID : 79 - ONGC Videsh has got a two year extension to explore which country's Oil block-128 in the south China sea?

oA fager Fr gfayor der TR F e S & del selleh-128 & THTAY & T &Y a¥ o1 faear f&em &2
Options:

1) Cambodia

FHEaIsar

2) Vietnam

ICRGoIE]

3) Taiwan

GIECIGE

4) Philippines

[EEIRice:)

Correct Answer: Vietnam

adea
Candidate Answer: [ NOT ANSWERED ]
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QID: 80 - The 5t India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 af TRa-SfrolehT TYerel Ve 39T AT ATF 2017” AR & Ty T & AT fham arar or?
Options:

1) New Delhi

¢ feroelr

2) Tamil Nadu

RIGEGIE

3) Maharashtra

HERTSE

4) West Bengal

e seTrer

Correct Answer: Maharashtra
HERTSE

Candidate Answer: Tamil Nadu

RIGEOIE

S

QID : 81-BIOSis a .

I. non-volatile firmware
II. Volatile firmware
III. Software stored on a small memory chip on motherboard

BIOS T& gl

I. IR-aRadr R

II. IRETAT HHIIR

III. AcIES W Ueh B A1 ARRT AT 9T ATFedzR T FIUT
Options:

1)Only I

Fad I

2) Only II

Faer 11

3) Only I and III

Saer I 9T 111

4) Only II and IIL

haer IT qr 111

Correct Answer: Only I and III
Sder I J9T 111

Candidate Answer: Only II and III
gl 1T T 111

QID : 82 - Which of the following is TRUE?

g A aslaaraa §?

Options:

1) Primary memory is non-volatile.
TR AR R-TRET g ¥

2) Secondary memory is volatile.

i AR oRadei g &

3) ROM is non-volatile. memory.

UH IR-afkadei g 2l

4) RAM is non-yolatile' memory.

A IR-aRaa=hg el e

Correct Answer: ROM is non-volatile memory.
A IR-IREAT 8t gl

Candidate Answer: [ NOT ANSWERED ]

QID : 83 - Which of the following metal remains in liquid form at room temperature?

fEfafea # & i A a1 el a9 W g7 &9 7 Eell 7
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Options:
1) Cadmium
Fsfaga
2) Mercury
qRT
3) Germanium
SRATATA
4) Tin
e
Correct Answer: Mercury
q'|T|‘

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - Aqua regia is a mixture of .

37T ST (VFaT IForam) 1 fHSOT BT 8l

Options:

1) dilute hydrocloric acid and concentrated nitric acid.

] BISIFelNeh 3FeT TUT Hig; wATgigeh IFel

2) dilute sulfuric acid and dilute hydrocloric acidic.

o] HeFGReh 3 TUT o] ETSZIFolliNeh 7ol

3) concentrated sulfuric acid and dilute nitric acid.

|ie; TR 313l AT 0] ATSTeH 3o

4) concentrated hydrocloric acid and concentrated nitric acid.
i, FTSZIFellReh 3l 2T Tig ATS e 3Fel

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.
g gTEIeFelReh 31Fel dUT Tig ST 3Fe

Candidate Answer: [ NOT ANSWERED ]

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

T 379 guuT & Ife f9Fa & aohdl Fog W @A &, A Slet Tl Yiafass grafr|
Options:

1) virtual

3THTEY

2) erect

e

3) diminished

Bler

4) at the centre of curvature

ehd & Sheg I fEuUd

Correct Answer: at the centre of curvature
Thd & dheg I FUd

Candidate Answer: [ NOT ANSWERED ]

QID : 86 - What is the mass of 4 mole of aluminium atoms?

ToATTIH o TRATI3N & 4 Hlel FT ceIAleT &7 §?
Options:

1) 120 grams

120 I H

2) 108 grams

108 ImH

3) 136 grams

136 ImH

4) 140 grams

140 I

Correct Answer: 108 grams
108 ImH

Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?

TR F  31efte TIPS F leT T HUIT P Bt T Goadl I ThHIAAT AT?

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c 30/58
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Options:
1) Gamma
IMAT

2) Beta
drer

3) Electron

Sorerglet

4) Alpha

et

Correct Answer: Alpha
37T

Candidate Answer: Electron

ool
QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
II. Fuse is generally placed in parallel with the device.
III. Fuse wire has high melting point.

AR 7 § et /8 FUT T /8?2

1. WGl FI WHGA: Jikd & Qe Aolisha & Ffd a2 g1
I1. ST i FAT: IiFd & AT U 7 AT i 8
III. W37 AR & Telelieh 34 gicll

Options:

1) Only I

Hae I

2) Only II

Fad 11

3) Only I and III

Shael I o 111

4) Only II and III

e IT qr 111

Correct Answer: Only I

Fad

Candidate Answer: Only I and III

hael I TT 111

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

A & AR T Teh AR Fsoll Thell Garehrg & # guil.atiay o3 WE &1 38 F5ei & IR faega arr v i & fhcar aRersor & qeerd ghar 87
Options:

1) Two revolutions

& oot

2) One revolution

e e

3) Half revolution

e g

4) One fourth revolution

T TS gole

Correct Answer: Half revolution

e g

Candidate Answer: [ NOT ANSWERED ]

QID : 90.- Noise is measured in which unit?

R Y T srS & AT ST 87
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Options:
1) Watt
afe
2) Faraday
LS
3) Pascal
TEhel
4) Decibel
ERICEC]

Correct Answer: Decibel

ERICE]

Candidate Answer: Decibel

LI

QID : 91 - Which of the following vitamin helps in clotting of blood?

rafaf@a & ¥ Fia a1 Reafds wa & e & Tgradr aar 2
Options:

1) Vitamin A

fafaa A

2) Vitamin B

farfae B

3) Vitamin D

faerf@=T D

4) Vitamin K

erfda K

Correct Answer: Vitamin K
afda K

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto per minute.

31T SITITH T & aTeT, fondY 3 gaes fr 9@t X gfa fsic d& 98 &l ¢l

Options:

1) 15

2) 20

3)25

4) 30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - Why is the colour of human blood red?

AT T T T el FAT Biell 67
Options:

1) Because of myoglobin

HATATlTSeT & HROT

2) Because of haemoglobin

A & HROT

3) Because of immunoglobin
SFEATANS o SHROT

4) Because of heptoglobin

grelTafasT & FRoT

Correct Answer: Because of haemoglobin
AT & HROT

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - Which of the following statement is INCORRECT?

PEfef@a & O Fi9 a1 FUeT T8 78 &2
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Options:
1) Oviparous animal does not give birth to young ones.
3EYSTeh Siq fash e fAIY] 1 o= a =781 & |
2) Each sperm is a single cell.
el YFIU] Ueh Tehel A g
3) External fertilisation takes place in frog.
Ao #H ey v gian g
4) Fertilisation is necessary even in asexual reproduction.

37l AR SeteT & ot ASTeT 3maeTs

Correct Answer: Fertilisation is necessary even in asexual reproduction.

Il ST & off AvTet 3maeTs B

Candidate Answer: External fertilisation takes place in frog.

AEH H aeY T I gl

QID : 95 - What is the cause of arise of myopia?

e TS QY 3ceet gleT &l AT SHRUT &?
Options:

1) Excessive curvature of the eye lens.

3fH=T AT Fehar w1 3F gl

2) Eye ball becomes too small.

17 IMcTeh T BT &1 S|

3) Focal length of the eye lens becomes too long.
BT 1 B g 370 gl

4) Lack of sleep.

e r |

Correct Answer: Excessive curvature of the eye lens.

3ITANT T FohT FT 31T BT

Candidate Answer: Focal length of the eye lens becomes too long.

BT B PR gl R g

QID : 96 - Which of the following multiplies very slowly in comparison to others?

feAfara # & Fia gt 1 o 7 aga R o T 87
Options:

1) Bacteria

Srary

2) Virus

farsroy

3) Fungi

Sdh

4) Worms

FiF

c
Correct Answer: Worms

CoE

c
Candidate Answer: Worms

Cae)

[

QID : 97 - The accumulation,of.non-degradable chemicals progressively at each trophic level is called

T GifSehdl TR W S o gl W TR A T gl &
Options:

1) biological magnification

Sifas gigstor

2) chemical magnification

TR gTEgenior

3) residue magnification

3aY ghgertor

4) No option is correct.

F1$ fahe T =1t &1

Correct Answer: biological magnification
Sifas gigaor

Candidate Answer: chemical magnification

Tarafee gigaor
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QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?

Options:

1) Because of sulphur dioxide

HoH STSHTFASS & HROT

2) Because of nitrogen dioxide

ATSEIST STS3HTFATSS & FROT

3) Because of chloroflurocarbon
FARTFARTHTSA & HROT

4) Because of carbon dioxide

FIeIT STSITFATSE & HROT

Correct Answer: Because of sulphur dioxide
HoW STSHTFATSS & HRUT

Candidate Answer: Because of sulphur dioxide
HoH STSHTFASS & HROT

QID : 99 - Cancer treatment is done by which of the following noble gas?

HAT T ITAR eaTfei@d # ¥ HieT 8 31fha 39 ganrr fomar Smar g?
Options:

1) Helium

RIGEE]

2) Radon

&

3) Krypton

foRceiaT

4) Neon

3T

Correct Answer: Radon

B

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - How many types of ecological pyramids are present in ecosystem?

qRFEITIHT & 7 fohctar yar & arRfEafaehr fafas gia €2

Options:
1) Two

o

Correct Answer: Three

Candidate Answer: Four
I

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?

AT & 8 & Pier a1 v 3o Aol & S Rars & e suge &2
Options:

1) Bull nose bricks

2) Jhumb bricks

S (37 ) $¢

3) Modular bricks

AR §&

4) Under burnt bricks

F STell §&

Correct Answer: Modular bricks
AR $&
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Candidate Answer: Modular bricks
s . s

QID : 102 - Which of the following is the correct reason for soaking the brick in water before its use?

Refaf@a & @ Sl a1 ST 3T% 39T T Tgo I F FNe T TEr FROT §?

Options:

1) For preventing adsorption of moisture from mortar by bricks
&1 aRT Wool A AT T QG Aehet & fT

2) For reducing air void

arg Rercll &1 A a2 & T

3) For reducing efflorescence

Schode HH A & fav

4) For cleaning

FTH FA & foT

Correct Answer: For preventing adsorption of moisture from mortar by bricks

&2 2aRT Wod § FAHT H WG Ahet & fAT

Candidate Answer: For preventing adsorption of moisture from mortar by bricks

&2 ZaRT Wed W 3T HT WGAT Johet & fAT

QID : 103 - Which of the following compound affects the ultimate strength of cement?

AT & @ i @r 3T deie it wa afFa 1 ysnfad Far §?

Options:

1) Dicalcium silicate

31 Hiorr# fafase

2) Tetracalcium alumino-ferrite
T SHToIH ITeffH=T-IIST

3) Tricalcium aluminate

1§ Shioerad srffse

4) Tricalcium silicate

Z1s SHfeerar fafore

Correct Answer: Dicalcium silicate

3 hiovd fAfase

Candidate Answer: Dicalcium silicate

3 e RAfdee

QID : 104 - Refractory bricks are generally used to resist .

geFT s A AR W ____ e ot & fore R e g1
Options:

1) chemical action

TS foRaT

2) dampness

AT

3) high temperature

3= d9ATT

4) weathering action

39T foram

Correct Answer: high temperature
3T d9ATeT

Candidate Answer: high temperature
3T d9AT

QID : 105- Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?

TR & O @l a1 3d & ud 3ifReas 767 &1 TEr ufaerd &, Ster 3made & aRads 31fead giar 872

Options:

1) 5%

2) 9%

3) 12%

4) 15%

Correct Answer: 5%
Candidate Answer: 5%
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QID : 106 - Which one of the following cement is best for the marine works?

et & @ e a1 ddie Foe Hrit & fav gafeas 82
Options:

1) Blast furnace slag cement

IeT-HEY e WA

2) High alumina cement

o TegiHaT HHT

3) Low heat Portland cement

FA AT Mol W

4) Rapid hardening cement

Mg F&d T

Correct Answer: Blast furnace slag cement
IAT-HEY Tar AT

Candidate Answer: Blast furnace slag cement

IeT-478) ofraT e

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

oot & @ et A 7 Fraalt By AT § TSRt STehst shY A <NoT ShY fshar 7 dree foRar ST ehal 87
Options:

1) 10%

2) 15%

3) 20%

4) 28%

Correct Answer: 15%

Candidate Answer: [ NOT ANSWERED ]

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

Hate 3R A X & e 3eqTa deie god vt fRar S 8, STt & Fefise 3R deaar arshd T adeTer R 82

Options:
1) 1:2

2)1:3
3)1:4

4) 1:6
Correct Answer: 1:3
Candidate Answer: 1:3

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?

e & @ FeT-81 Agca ol &R § S WA Fishie & BsT B venfad Hiar §?
Options:

1) Quantity of cement

e Fr AT

2) Size of coarse aggregates

TeT FHTIY HT JHR

3) Size of the fine aggregate

T H FHTIT HT ITHR

4) Amount of water added during mixing of concrete

A3 & 0T & SireT AT a1t i A=

Correct Answer: Amount of water added during mixing of concrete

AT & AT & g1 TATAT aredr r AT
Candidate Answer: Quantity of cement

e Hr AT

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined aggregate becomes
6.4. The fineness modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

YT eI H GeH T & IHard (Fiard &) T 07 Y A1 Fgere GHead i YEHT AT 6.4 81 ST | FHshie AT A TaT T AR GaH Fwad Hr
GEHAT AT HHAA: 7.6 3 2.8 B
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Options:
1) 20

2) 33.33
3)35

4) 66.6
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

o1 7 O 5T s1$ &1 92T D.P.C. F1F & 3MTehoeled & T v Srar &2
Options:

1) Number

pare

2) Cubic meter

e Hiex

3) Running meter

Ifefer #Hiex

4) Square meter

gt Hex

Correct Answer: Square meter

T HeX

Candidate Answer: Square meter

It e

QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced.cement concrete (1 : 2 : 4).

(1:2:4) yafard T sshle & 20 TeT HieX 7 32T YT HiT AT (T HeX ) Fr 0= HX)

Options:
1) 2.87

2) 4.4
3)5.7

4)8.8
Correct Answer: 8.8
Candidate Answer: 8.8

QID : 113 - Deduction at cross wall for total length of the central line is

HET X T Tt AT F T H QAR W FRSANT B
Options:

1) half of thickness of wall.

&R & HierS o1 3men

2) no deduction.

S el g

3) thickness of wall

gar & Aers

4) twice of the thickness of wall

&R i Fieté 1 2

Correct Answer: thickness of wall

gIarR & A

Candidate Answer: twice of the thickness of wall

A 3 Fiers & A

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sections are 20
square meters and 80 square meters. Use trapezoidal method.

100 HIeX ofd Ueh 7g< & ToIT Gars T AI0TeAT B HieT & Y TSIHeT 31IoeY hie alathel al et & 20 F91 #ieY 3R 80 797 Hiex §| FHcrwahR fafer a1 g2 Y|

Options:
1) 2000
2) 5000
3) 7000
4) 10000
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Correct Answer: 5000
Candidate Answer: [ NOT ANSWERED ]

QID : 115 - Accuracy in measurement of the area should be .

8T AT AT H FEHRAT ____ glaar A1g Tl
Options:

1) 1 square centimeter

1 397 FEHRY

2) 10 square centimeter

10 g7 FFHT

3) 100 square centimeter

100 @37 T

4) 1 square meter

1 a7 Hiex

Correct Answer: 100 square centimeter

100 a9t AR

Candidate Answer: 1 square centimeter

1 3o FEHRY

QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the.painted area is .

ATHER THeEeH We e & I a1 3ihelel & T, Fard aiF & I &89 & yfaerd gfg J
Options:

1) 10%

2) 14%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: [ NOT ANSWERED ]

QID : 117 - Which of the following is the purpose of the valuation?

AT 7 q ST A1 T FHoAiohet T 3227 82
Options:

1) Approximate estimation of cost
ST T g T AT

2) Analysis of rate

&Y &1 fagervor

3) Detailed estimation of cost
AT T faEqe JTTATT

4) Taxation

FR-FAeRoT

Correct Answer: Taxation
F-TAYRoT

Candidate Answer: Taxation

F-fARoT

QID : 118 - An electric generator.isinstalled in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate

the whole amount of 5% compound interest. Assume the life of the electric generator as 10 years.

el 7 50,000 TG & T A Teh [Ss1el i1 Sifors Tnfie fomam arar § | 5% =srgfig sarsr R gl TR 511 &t & foiw arraearss arfiess %o averet @R (v92) &y arorer

FX| AT 5 fSorell FrIfAT F7 Shastsrer 10 a¥ B

Options:
1) 1535

2) 30695
3) 3975

4) 79503
Correct Answer: 3975
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - No deduction is made for opening in estimation of masonry work up to
TRITTS & A & AT H Yool o (AT IS Heldlr g1 1 1S ¢
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Options:
1) 1 square centimeter
1 3o F&HX
2) 10 square centimeter
10 33 HEeex
3) 100 square centimeter
100 @37 FEFHET
4) 1000 square centimeter

1000 FeF FEHRY

Correct Answer: 1000 square centimeter

1000 Tt ey

Candidate Answer: 10 square centimeter

10 g7 Fefex

QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.

25m@mmﬁmaﬁrqﬁr:ﬁam%m(m)aﬁrmﬁsﬁaﬁrw:ﬁa%ﬁv%aﬁmzsoﬁwﬁéﬁ@rqﬁwwgm%l

Options:
1) 0.96

2)3.85
3)7.7

4) 15.43
Correct Answer: 15.43
Candidate Answer: 3.85

Staff Selection Commision

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

ToT TETOT & 3TANT & T TdeTor 817 (97 fhaaiey) H a8 dar Rl @ §?

Options:
1) 250

2) 300
3) 350

4) 450
Correct Answer: 250
Candidate Answer: 350

QID : 122 - Which one is the smallest scale?

FiT TIT I DleT ATYS 87

Options:
1)1:100

2) 1:500
3) 1: 1,000

4)1:2,500
Correct Answer: 1 : 2,500
Candidate Answer: 1 : 2,500

QID : 123 ~Alline of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

TET Je15°398 HeX T Tk UiFd o1 20 HieX Sl &Y Teh Soiik A HTYT IRT At 3FHT o1-a1S 400 FHeX gof FI IS & SR I arEdias aes (e &) Fa1 872

Options:
1) 19.9

2) 20.1
3) 20.4

4)21.5
Correct Answer: 19.9
Candidate Answer: 19.9
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QID : 124 - Calculate the correction for temperature for a tape of length ‘L', if the increase in temperature is ‘T" above the standard temperature. The coefficient of
the temperature for tape material is ‘a’.

TS 'L Y T & ATIHTT & fAT UR Y 70T Y, PR AGATA F G A adA T § T S § ST QA FH AT [onies 'A' §
Options:

1)aT/L

2)-aT/L

3) +aTL

4) - aTL

Correct Answer: + aTL

Candidate Answer: aT/ L

QID : 125 - What is the correct sequence of the temporary adjustment of level?

TR & HEATS FHTLNSTT T TET Iofshdl T §?
Options:

1) Centering, leveling and setting

HEROT, THATA AR TATISTT

2) Leveling, setting and centering

T, THATS 3R FHeeor

3) Setting, centering and leveling

HHTAST, HAOT 3R T

4) Setting, leveling and centering

FATSA, T 3R Heeor

Correct Answer: Setting, centering and leveling
HHTAIST, HERIOT AR FHAAAT

Candidate Answer: Setting, centering and leveling

FATIIST, ST 3R THcde

QID : 126 - The values of whole circle bearing vary from

RITRINTHF A F g § |
Options:

1)

0° to 90°

2)
0°to180°

3)
0°to 270°

4)
0° to 360°

Correct Answer:
0° to 360"

Candidate Answer:
(° to 360°

QID : 127 - Which of the following statement is correct for proper adjustment of the theodolite?

Aeerse F 3T ARG F v Fea F O Fia a1 FUT FEr g?
Options:

1) Axis of plate level is'perpendicular to the horizontal axis

T T 13787, &ifcioT 3787 & oledd ©

2) Line of collimation is perpendicular to the horizontal axis
TR, SISt 3787 & eigad &

3) Line of collimation is parallel to the vertical axis

FUTAET, FEATER 3767 & TATACR ¢

4) Line of collimation is perpendicular to the vertical axis

FETET, FEATLR 3787 & oiaad §

Correct Answer: Line of collimation is perpendicular to the horizontal axis
HTeRET, &St 38T & olead &

Candidate Answer: Axis of plate level is perpendicular to the horizontal axis
Tl T T 3787, Aifcrer 3787 & ddad §
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QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?

oo T T FAGALMTAT & AT eatori@d 7 ¥ @isT wer 82

Options:

1) Sensitivity decreases with increase in internal radius of the tube
TS & iR o1 # gig & A FaeTelieldl A g el §

2) Sensitivity decreases with increase in diameter of the tube.

TS & e 7 g & AT TG Fo gy S §

3) Sensitivity increases with decrease in length of the tube.

TS 1 TS F F & A FaeeriAr 96 e §

4) Sensitivity increases with decrease in viscosity of the liquid.

I gerd T eTAar F A & G GaeAMeldr 9¢ ST &

Correct Answer: Sensitivity increases with decrease in viscosity of the liquid.

T gere T ITAT H FH F ATT eAMeldr 9¢ S &

Candidate Answer: Sensitivity increases with decrease in viscosity of the liquid.

TR TeTy T AT H FHY & 1Y TAgeTeieldl 96 STl &

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

a5k GUR (FIeT ) Y IT0TAT Y IR STHIOT 3R T & e 1 g 500 Hie 1

Options:
1) 0.0196
2) -0.0196
3) 0.0028
4) - 0.0028

Correct Answer: — 0.0196
Candidate Answer: — 0.0196

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an
interval of 20 m are 40 square meters, 50 square meters and 80 square meters.

FHFEHR TR &7 39T X Gers T AT (T #reT 7) H¥ A0 F, 3R 20 HeX & e, W AT FH1e & Aol TS % IR deaee aiaher 40 Fof #ex, 50 F91
#Hrex 31k 80 a9t Hex 1

Options:

1) 1067

2) 1700

3) 2200
4) 3200

Correct Answer: 2200
Candidate Answer: [ NOT ANSWERED ]

QID: 131 - The soil transported by the gravitational forces.

TecATRYOT Sl GART______ TAEY &7 3oargeT gl 8
Options:

1) alluvial soil

ECICAEE]

2) colluvial soil

el fAEY

3) loess

TRrepatt difer Sj,i’r EGE]

4) till

e

Correct Answer: colluvial soil
CAGINEEL
Candidate Answer: alluvial soil

Sieite fAEY

QID : 132 - Which of the following is determined with the help of pycnometer?

ot # & Fler Raeiefiex H weraar & Fuifa giar &2
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Options:
1) Dry density and specific gravity
g weiea 3R faRrse geca
2) Void ratio and dry density
et 3FgaTel 3R ek Tefea
3) Water content and specific gravity
SteT e 3R faferse eca
4) Water content and void ratio

Stef AHEar AR Reret regard

Correct Answer: Water content and specific gravity

SieT T 3R fafrse eca

Candidate Answer: Water content and specific gravity

et |realt AR faRrse areca

QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sq. m to 0.26 N/sq. m and 0.07 N/sq. m to 0.15 N/sq. m respectively in the triaxial
test. The Skempton’s pore pressure parameter is given by. .

Tl gaTd 3T STef T8 &7 &ag 0.1 ToT / F97 HeX & 0. 26 T / Fo7 #ex 31K 0.07 T / 79t #fiex & 0150 / oF #iex sharer: Fafiss q1e701 Heg 3137 | TFTHST & STel
T¢I T gaTd IRATT canT R are § 1

Options:

1)-3

2)-0.5

3)0.5

4)2

Correct Answer: 0.5

Candidate Answer: 0.5

QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

et 7 q T A1 50% o Tt & & AT Toh GHY [T (ATl 1 fowmer 82

Options:

1)0.2

2)0.5

3)1

4)2

Correct Answer: 0.2
Candidate Answer: 0.5

QID : 135 - Which one of the following is true about ideal fluid?

25T 7 @ et I U e ga & IR F T Y?
Options:

1) It is compressible.

e dga &

2) It is incompressible.

REERGIECE]

3) It has high shear force.

SHH 3T hkell gl §

4) It has high value of viscosity.

SHH 3T AT &

Correct Answer: It is incompressible.
Ig T &

Candidate Answer: It is incompressible.

Ig I &
QID : 136 -.The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?

BIET §& &1 a1 0.075 TA#HAT §1 0.000075 Tst/ THTH I HAG dol1d & BIET 8¢ H TAHTA Go1d (T / F37 {Y) T Teerell 41 82

Options:

1) 0.4

2)0.6

3)0.8

4)1

Correct Answer: 0.4
Candidate Answer: 0.4
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QID : 137 - A rectangular block of dimensions 2 m x 1 m x 1 m is floating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit

weight of water is 10 kN/cubic meter.

Waﬂrraamavﬁa:a?rmzmx1?ﬁx1m%,mo.smm$w§m§wm%$wmﬁ?\?m%lmﬁmmw%(ﬁwﬁm@ﬂ)mm

& IfAc Tt 10 fhelt 7e / o FeX 1
Options:

1)5

2) 10

3) 15

4) 20

Correct Answer: 10

Candidate Answer: 10

QID : 138 - On which principle equation of continuity is based?

fAeRar &1 FHEoT fhd fagia 9% 3mamia 82
Options:

1) Conservation of energy

ST ST TIETOT

2) Conservation of mass

ST T TETOT

3) Conservation of momentum

TfeY T TRETOT

4) All option are correct

Tt AFreT T &

Correct Answer: Conservation of mass
GSIHAT T TETOT

Candidate Answer: Conservation of mass
SSTHAT T TIETOT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for.the smooth pipe?

I YeiesH HEATT 1000,000 & A FErehelt A1g9 & fT edor it JefaTfeid AT &7 82
Options:

1)0.1

2)0.01

3) 0.001

4) 0.0001

Correct Answer: 0.01
Candidate Answer: 0.01

QID : 140 - Which one of the following is correct for impulse turbine?

=T & O i A1 T 37T GBS & T TEr 82

Options:

1) Always operates in submerged condition

ERT STelH+T gTeld H ToidT §

2) Converts pressure head into velocity with-the help of vanes

el HT AGE H GG 88 &1 AT H TEAGell &

3) Operates by initial complete conversion to kinetic energy

aTfdst Fat & fow YR qohFaieRor § Feford glar &

4) Operates by initial complete conversion to potential energy

FRuarsT oft 3 forT SRS GOt SraoT & i e &

Correct Answer: Operates by initial complete conversion to kinetic energy
Tt Fat & faiv yRfFe qot Saieror & Fefod giar &

Candidate Answer: Converts pressure head into velocity with the help of vanes

el I Heg U &a1g 88 1 3T H ST ar &

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is

I AT g Ui & ST & HET D6 § erel SIaT &, Il & 9aT8 & TR gl
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Options:

1) forced vortex

Fw s

2) free vortex

HFT H

3) tangential flow

Tqe varg

4) transitional flow

Hehifae gaTe

Correct Answer: free vortex
TFT H

Candidate Answer: free vortex
A R

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81.m?
o071 & @ et € TSl 10,000 Terdy Y ATFA ScUeet et & TN IUGF B, 81 HICT & Teh 835 o oAl 500 IRITH H aTfey & e o QY 82
Options:

1) Propeller

e

2) Francis

wiaT

3) Kaplan

Ea i)

4) Pelton

JeresT

Correct Answer: Francis

R

Candidate Answer: Pelton

JeresT

QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2:22 m/s and depth of flow is 1 m.

fg warg &1 A97 2.22 #Hiex / Ths § 3R varg I Es 1 Hiex § ar faflise o A aorar (en R/ R & 3

Options:

1) 1.25

2)2.22

3)3.22

4) 4.22

Correct Answer: 1.25

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient
of drag on the falling sphere?

0.02 #Hrex =g & el 7 0.02 Y / TF & Faer 397 & AT AT AT 10 T & ga F X S &1 TR el o Wier=t & I[oTieh T AT FT 87
Options:

1) 40

2) 60

3)80

4) 100

Correct Answer: 60

Candidate Answer: 100

QID : 145 - As one moves from head of the canal to the field, the duty of the water .

e F 85 V.o A A U Il & §9T H I 3Harer __
Options:

1) decreases

gedT &

2) either increases or decreases

7 & F&dT AT Fear

3) increases

g&dr

4) remains constant

Teh AT
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Correct Answer: increases
§edr

Candidate Answer: decreases
gear ¥

QID : 146 - Which of the following is the correct assumption of the Kennedy’s theory?

foieaT 71 & ST § SISt RAgTd I Ter URom 872

Options:

1) Shape of regime channel is semicircular.

IS AeTeT & AR ey B

2) Silt is in suspension due to buoyancy force.

ScCATae Jef & HRUT, {WDg i 7 glar 8|

3) Silt is in suspension due to eddy formed from bottom of channel.

AeTel T TAE T HaAR ScToT BleT & FHROT, YWD Tovoiget 3 grelr B

4) Silt is in suspension due to eddy formed from wetted perimeter of channel.

ATl T el IR 1 & T, YT FoiaeT 7 g &

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.

Aol T TAg W HAT 3o glel & PROT, IW@TTDG fAoiaeT 7 g g

Candidate Answer: Silt is in suspension due to eddy formed from bottom of channel.

AT T g W HAT 3o BleT & PROT, (WIS il 7 8T &

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?

TSI & 3TTHN T§OT & U1 T[0Tk T Al FT 82

Options:

1) 0.007

2) 0.01

3)0.15

4)0.3

Correct Answer: 0.15
Candidate Answer: 0.15

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35
and total reaction time as 2 seconds.

80 Trelt/erer &1 e f3TTse Y 911t & ForT 3% o 37aRIEN aref & ForT GITE ek €fSe gy (+ex ) 1 a0 Y| €07 & I[0Tieh 7 AT 0.35 3R For Hfcifhar Ty 2
{ehs AT |

Options:

1) 110.82

2) 123.26

3) 1018.41

4) 1092

Correct Answer: 123.26
Candidate Answer: 123.26

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?

Frfafad 7 & @i A fFafea ffaister H =gerae @ (didiee) § St STl shaet & 31fedea & T Sier o gehr anfge?
Options:

1)1

2)4

3)10

4) 40

Correct Answer: 4

Candidate Answer: 4

QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/| receives the industrial waste water having flow of 1.5 cumecs and BOD
concentration of 250 mg/l. What is the BOD concentration (mg/l) of stream at downstream point of meeting of stream with industrial waste?

T YR &1 yaTg 20 FgAFH 83 § 51 10 el / ofiex it i3t vemarar & &y 3 e’ &7 arit 1.5 Fgaed & 9arg 3R 250 fFehans / ver & $i3nst vanrrar
Y GTC YT & | JHieTaen e & AT URT 1 [elel o 3feqvare feig OX &R T dN3ie) vehrarelm (Tfreliamer / ofiex ) = 82

Options:

1) 2.67

2) 12.09

3)13

4) 26.74

Correct Answer: 26.74
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Candidate Answer: [ NOT ANSWERED ]

QID : 151 - A riveted joint may experience

T Rae 7Y g SIS I SHRT IH37d &1 Hehell §
Options:

1) shear failure

FAt! [AFerdr

2) shear failure of plates

Tolet I =T fawerar

3) bearing failure

foafier fawerar

4) All option are correct

T e T §

Correct Answer: All option are correct

ot fasroT wér &

Candidate Answer: All option are correct

Tl faereT T &

QID : 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

3R p 3R d T AR Racw 1 el o ¢, @ Rae 63 gU g & gavem (n) ¥ fohach gar feam simar &

Options:

1) n = p/(p-d)

2) n = p/(p+d)

3) n= (p-d)/p

4) n = (p+d)/p

Correct Answer: n= (p-d)/p
Candidate Answer: n= (p-d)/p

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area'is A, its radius of gyration r about the axis is

3R SHHT G & IR 7 T T3 T 31190 &7 4707 | § 3R 30 Tl I1emmaiiar &7 A §,-3F 3787 o a0 31 amaersT & e r gt
Options:

1)r=1I/A

2) r = V(I/A)

3) r = V(A/T)

4) None of these

ST IS TGS

Correct Answer: r = V(I/A)
Candidate Answer: r = V(I/A)

QID : 154 - Allowable working stress corresponding to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is
reduced to

mﬁaﬁmsﬁamaﬁaﬁﬁﬁﬁ%wmw%m%,WWWT@’@%’%T@WWW@EQWﬁ?Hﬁqﬁg@%ﬁaﬁwmwm
ST g

Options:

1) 50%

2) 60%

3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED ]

QID : 155 - According to I.S. : 800 — 1871, lacing bars resist transverse shear equal to

3MSTH : 800 - 1871% @R , AT Ford FAudiar 1eforey setelr & fadrer SRISR Tl § 1
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Options:
1) 1.0 % of the axial load
3787 HR 7 1.0%
2) 2.0 % of the axial load
378TT HR 7 2.0 %
3) 2.5 % of the axial load
31ef AR &7 2.5 %
4) 3.0 % of the axial load
&M IR 1 3.0 %
Correct Answer: 2.5 % of the axial load
& AR & 2.5 %
Candidate Answer: 2.5 % of the axial load
378TT AR 7 2.5 %

QID : 156 - Pick up the correct statement from the following

T & & TE HAF Iaw

Options:

1) Loaded columns are supported on column bases

WS RT a7 T3, TeT TR 9X 3menRd g &

2) Column bases transmit the column load to the concrete foundation
SHicTH & TR TAH oIS & oI &g W THRT Fa &

3) Column load is spread over a large area on concrete

FIH AR FHehlc W T 93 817 H el glar g

4) All option are correct

et fahoT AT &

Correct Answer: All option are correct

T faereT TET &

Candidate Answer: All option are correct

T ey v &

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-

3TEST 27 T T & AT, 91 3R ALY T For HAT, WA, H HHA el glATATRT |
Options:

1) 20%

2) 30%

3) 50%

4) 75%

Correct Answer: 50%

Candidate Answer: 20%

QID : 158 - In factory buildings, the horizontal beams'spanning between the wall columns supporting a wall covering are called

PR HT SARAT H, Teh GIAR S HART HI FERT &t dTel AIAR TAHAT o o1 el 8ifcisT 13 T gl 1T &
Options:

1) stringers

Regrordr

2) trimmers

jrcany

3) girts

faca

4) lintels

Il

Correct Answer: girts

[l

Candidate Answer: girts

[Eir: )

QID : 159 - The average shear stress (in kg/ cm?) for rolled beam section, is

e AT T & AT AT Faeh dora (. am/Aeh2) 7 grar &
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Options:
1) 845
2) 945
3) 1025
4) 1500

Correct Answer: 945
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - Web crippling generally occurs at the point where

a9 fopufeier 3TACR W 34 fdg W g & siet
Options:

1) bending moment is maximum

glehel o1 &T0T 37feIehard §

2) shearing force is minimum

frafer 9 =g §

3) concentrated loads act

Figa arg sfafaas

4) deflection is maximum

TyeIToT 3rftehee &

Correct Answer: concentrated loads act
Figa @iz sfafaga

Candidate Answer: concentrated loads act

i s sfRfags

QID : 161 - The strength and quality of concrete, depends upon:

shehic T dlehdl X 0T, 30 W AR T

Options:

1) grading of aggregates
Ty &I AT

2) surface area of aggregates
THTEY HT g &TTBe

3) shape of aggregates
AT & 36N

4) All option are correct

i RFer adr &

Correct Answer: All option are correct
Tt AreT T &

Candidate Answer: All option are correct

Tl oo T &

QID : 162 - The process of adding water to lime to'convert it into a hydrated lime is termed as:-

o1 el Y TR S ET83%E T A aRafeia e B FEad |
Options:

1) watering

e

2) baking

SfRaT

3) hydration

REEEG

4) slaking

Faiferer

Correct Answer: slaking

Teifehar

Candidate Answer: slaking

Foifehar

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated
aggregate if its length is not less than

IR G G0 e & 75 A &1 3R T Sorelt & Tl § 3R 60 TR 3R T Sefell T =TT @ ST § dF T F el FATRT & &7 A ST Srwar, afe
SR AFAE SHH T A gIe &
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Options:
1) 81.5 mm

2)91.5 mm
3) 101.5 mm

4) 121.5 mm
Correct Answer: 121.5 mm
Candidate Answer: 121.5 mm

QID : 164 - The calcination of pure lime result in:-

UqE Tt & Tregoler (Hfoqerer) & aRons :-
Options:

1) quick lime

AR/ 3teTgem g

2) hydraulic lime

grsgifereh e

3) hydrated lime

Fs3ies T

4) fat lime

e g

Correct Answer: quick lime
caRa/3ergem gar

Candidate Answer: quick lime
AR/ 3t g

QID : 165 - Pick up the correct statement from the following

=T 7 O T8 U gerv

Options:

1) An increase in water content must be accompanied by an increase in cement content
Ster Y 3 g wete w3 gfg & A g AT

2) Angular and rough aggregates reduce the workability of the concrete

0N 3R A Geee, Hehic & HHBIST Y HHA B §

3) Large size aggregates increase the workability due to lesser surface area

T 3THR & &TThel & HRUT T3 ITHR & THTTT HHBST H Jig H §

4) All option are correct

ol FFeT T &

Correct Answer: All option are correct

T ey T &

Candidate Answer: All option are correct

et fahoT AT &

QID : 166 - According to I.S. 456, the number of grades of standard concrete mixes are

ITSTH : 456, & TN 3 (Fh1e) [RTFd. & U3 i Fear §
Options:

1)3

2)5

3)6

4)7

Correct Answer: 7

Candidate Answer: 7

QID : 167 - Curing a concrete for long period ensures better

S HAY b HehlIe T FRIT e § g lefl TgcX alish § AR g &
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Options:
1) volume stability
AT RERRr
2) strength
afea
3) water resistance
et gy
4) All option are correct

Tl faereT T &

Correct Answer: All option are correct

o faweT w8 §

Candidate Answer: volume stability

AT ERar

QID : 168 - The main object of compaction of concrete is

1T % TPl T HET 32T giar & &

Options:

1) to eliminate air holes

&aT G Pl A H & T

2) to achieve maximum density

37RHdH gelca ITed XA & faw

3) to provide intimate contact between the concrete and embedded materials
Fshre 3R TFasE Tl & AT AR TUH YeT e & o

4) All option are correct

T faereT TET &

Correct Answer: All option are correct

T ey v §

Candidate Answer: All option are correct

oY fahoT AT &

QID : 169 - Construction joints are provided

Options:

1) where B.M and S.F are small

& BM AR SFoic g

2) where the member is supported by other member
STET Hetd GER WeEd AT FHTdT §

3) at 18 m apart in huge structures

TR TLATHT & 3efrar 18 HeT & gff W

4) All option are correct

Tt AroT T &

Correct Answer: All option are correct

g ey v &

Candidate Answer: All option are correct

g RweT wdr §

QID : 170 - Pick up the correct'statement from the following

e & A TE FUA FAC

Options:

1) Construction joints‘are necessarily planned for their locations
fAATOT et &1 37k TATET & faw SR dt W JIR R arar &

2) Expansion-joints are provided to accommodate thermal expansion
eyafer FAEAR T TSI aeet & forT faeaR oits vereT foram e &

3) Construction joints are provided to control shrinkage cracks

e arel IR 1 T aiter o faw fafor Siis suersty e o §
4) All option are correct

Tt AFreT T &

Correct Answer: All option are correct

Tl faemeT T &

Candidate Answer: All option are correct

g e v §
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QID : 171 - Grading of sand causes great variation in

g & Afsr T g sarar THTTAT T FROT FeTchl &
Options:

1) workability of concrete

FHhIT & HIHBTIST

2) strength of concrete

FhIT I dThd

3) durability of concrete

Fohic T FUTR—IT

4) All option are correct

T e v §

Correct Answer: All option are correct

¢ fasroT @ &

Candidate Answer: workability of concrete

FHHIT & FIHABIS
QID : 172 - The light weight aggregates are obtained from

HH Aolell TFHTTT FHY GTed FhaT STl ©
Options:

1) sedimentary rocks

BEE SUCEIC

2) metamorphic rocks

AcrAN T g

3) igneous rocks

ST U

4) volcanic source

Sarelrad dd

Correct Answer: volcanic source
SarelTedY Hed

Candidate Answer: sedimentary rocks

N )
QID : 173 - The bulk density of aggregates depends upon its

AT T A1 Gefeq 56 W AR Far g
Options:

1) shape

E;ICars

2) grading

Afar

3) compaction

el

4) All option are correct

g ey T &

Correct Answer: All option are correct

oY fahoT |ET &

Candidate Answer: All option.are correct

Tt AFreT T &

QID : 174 - Batching error means inaccuracy in the quantity of

ST 3 1 AHcTerd § SHT AT H 37
Options:

1) aggregates

e

2) cement

paiczr

3) water

qredr

4) All option are correct

T faereT T &

Correct Answer: All option are correct

g e w8 §
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Candidate Answer: [ NOT ANSWERED ]

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edge by

e ToloR & efeldaiah She; T GS 58 GINT Jechig FHels To i el §

Options:
1) 0.2 mm

2) 0.5 mm
3) 1 mm

4) 5 mm
Correct Answer: 0.5 mm
Candidate Answer: 1 mm

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than

AT HT Jodcl Fehich 38 HUI o Folel T Tiaerd &, [ietehr Aers T FAEI
Options:

1) 2/5th of mean length

3itaa oieTS T 2/5

2) 3/5th of mean length

3 JETS T 3/5th

3) 4/5th of mean length

3 @IS FT 4/5

4) None of these

ST A FIg TR

Correct Answer: 3/5th of mean length
3it|a &eTS T 3/5th

Candidate Answer: 3/5th of mean length
3itaa oiTs &7 3/5th

QID : 177 - The field test for the quality of cement consists in putting a small quantity ‘of cement in a bucket containing water. A good quality cement will:

e T UTdedT o T hles TEe & a1l T Ueh dTecl 7 T T IS AT STel=A1877 81T &1 Ueh red) I[uTded drel diefe:
Options:

1) immediately dissolve in the water

T 9Tl H ol ST &

2) float on the water surface

UT=AT T TAg TR Felle Y

3) sink to the bottom of the bucket

e & el 7 39 ATl &

4) produce the steam

$ITT T IcUTeT T &

Correct Answer: float on the water surface

Tt T Tdg TR Felle Y

Candidate Answer: sink to the bottom of the bucket
1o & AT H 39 ST &

QID : 178 - For the repair of roads

3! HT AFAT & T

Options:

1) low-heat cement is used

Fo IH] AT HT sTAATS HaT ST &

2) rapid-hardening cement is used

ISl & T gt arelt Wide o STaAT fohar SIraT §
3) high-alumina cement is used

- 3R HIFHE T 3N fomdm Srar &

4) sulphate-resisting cement is used

Hethe-farel didie &1 sedaTe fvar ST §
Correct Answer: rapid-hardening cement is used
TSl F T 81T aTell TIHT T STAAT ThaT ST &
Candidate Answer: rapid-hardening cement is used

S F & 81 aTelY YT T STIAT TohAT ST &
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QID : 179 - The advantage of reinforced concrete, is due to

GaToId shehlc & T3 SHS HROT &Il &
Options:

1) monolithic character

3@s anT

2) fire-resisting and durability

3T wferier 3R Teanfe

3) economy because of less maintenance cost
FH TEEIT AT & HROT T

4) All option are correct

o RweT v §

Correct Answer: All option are correct

oY fahoT |ET &

Candidate Answer: All option are correct

Tt AreT T &

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than

Teh A I AT el q, TR T &80T SHH TATGT 8T 81 Hebell &
Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 25%

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Spacing of stirrups in a rectangular beam, is

Teh AR 1A F T i e, Jg gl §
Options:

1) kept constant throughout the length

o oFaTS #F TR @ &

2) decreased towards the center of the beam

&1 & g T AR FHA AT &

3) increased at the ends

BR W T

4) increased at the center of the beam

1 & g F JgaT &

Correct Answer: increased at the center of the beam
& & g T Tear g

Candidate Answer: decreased towards the center of the beam

AN & g T 3T HA el &

QID : 182 - The radius of a bar bend to/form a hook should not be less than

Wymé?ﬁuwmaﬁxﬁgﬁa;%ﬂm%wgﬂﬁwmm
Options:

1) twice the diameter

ST T I

2) thrice the diameter

ST T cfie] T[T

3) four times the diameter

ST IR AT

4) five times the diameter

ST T 9 AT

Correct Answer: twice the diameter

ST T gl

Candidate Answer: four times the diameter
ST T TR T[T

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing

SEUTC Y FATET T 3TH AR TR Teh I S5 Hleleh SalTs T Jofell F HHAH SHalrs =T e T 7 gl &
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Options:
1) straight bar splice

Hrelr ggY Fees

2) hooked splice

S Toalsd

3) dowel splice

Sl ToaTSH

4) All option are correct

g fasFeT | &

Correct Answer: All option are correct

T faweT w8 §

Candidate Answer: All option are correct

Tt AreT T &

QID : 184 - The diameter of longitudinal bars of a column should never be less than

EAH & IS Tl & T 1 S HH Hal 7L gl afew
Options:
1) 6 mm
2) 8 mm
3) 10 mm

4) 12 mm
Correct Answer: 12 mm
Candidate Answer: 10 mm

QID : 185 - The maximum ratio of span to depth of a slab simply supported and spanning in two directions is

T T ITRARTH U Tola Y aTg0S A S o e oY emaft # Afda sik bem gl @, a5 &

Options:

1) 25

2)30

3)35

4) 40

Correct Answer: 35
Candidate Answer: 35

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

T R Fold & v St o o ) gad 8 3R Fegadl fiat o o Srm = &t
Options:

1) Max. sagging B.M. for the end spans = + (w|2)/10

3ifreras AT BM 3id & & fow = + (wi?) / 10

2) Max. hogging B.M. over penultimate supports is equal to - (wlz)/10
TeRaH QI . uA. IWid T & FO - (W) / 10 & ST &

3) Max. sagging B.M. for the interior spans = + (W|2)/12

3if0eras AfFer BM SORR =g & fw= + (wi?) / 12

4) All option are correct

T ey wdT §

Correct Answer: All option are correct

oY fahod |ET &

Candidate Answer: All option are correct

T oo TEr g

QID : 187 - The advantage of a concrete pile over a timber pile is

TR F S(TS) T TF 3 3T T AE T gladT &
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Options:

1) no decay due to termites
&A% & HRUT HIS &7 AT
2) no restriction on length
FETS W FIs gy @

3) higher bearing capacity
3TT AT &THAT

4) All option are correct

T faereT TET &

Correct Answer: All option are correct

T ey w8 §

Candidate Answer: All option are correct

oY fahoT |ET &

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

U 93T g YT foRaT SI1aT § Afe 39T 8190, SART & Aaferd 819%d ¥ 38 3119 g1ar &1
Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

Candidate Answer: 30%

QID : 189 - The forces in the members of simple trusses may be analysed by

ATELRUT ¢H & HEEAT H Foil T faLavor 38 R 5 TohdT §
Options:

1) graphical method

e fafer

2) method of joints

St & fafer

3) method of sections

et 7 fafer

4) All option are correct

g faweT w8 §

Correct Answer: All option are correct

Tt AFreT T &

Candidate Answer: All option are correct

Tl oo T &

QID : 190 - A rolled steel joist is simply supported at its.end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the
ends of 0.002 radian. The length of the joist will be

Teh Ues T SANSTC Fl 3TF BR W TERTSAT & 3R T AT & A [3aRa R T § s ROt 10 & 7 31f%ehas faeiust 31 0.002 3BT i ©R) R o giar
g1 SsEe T oers gl

Options:

1) 10 m

2)12m

3)14m

4) 16 m
Correct Answer: 16 m
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - A lift of weight W is lifted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

FoTel W T Ueh ToTore Ueh TEHT & AT Teh calvT f o AT 3SIT AT & | 3R I o Sh1-Herlel T &1 T%eT A §, dF I T d=d grem
Options:

1) W (1+f/g)/A

2) (1-g/f)/A

3) W (2+f/g)/A

4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A

Candidate Answer: W (2+f/g)/A
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QID : 192 - A material which obeys Hooke's law is subjected to direct stress 00. At its elastic limit, which of the following statements is true?

Wum?ﬁsﬁgmavﬁuﬂwwm%‘,agmaﬂﬁcoakmﬂammmmmw,ﬁmﬁﬁaﬁawxmaﬁ%?

Options:

1) Strain is equal to o0/E

TG00 / EF T &

2) Maximum shear stress = 00/2
HUFHIH FHAGH Tl = 00 / 2

3) Strain energy = (00%/2E) x volume
T=Td Feit = (002 / 2E) x AT

4) All option are correct

3t faheT T §

Correct Answer: All option are correct
3t faeT @er g

Candidate Answer: Strain is equal to c0/E
TAT 00/ ESH e g
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QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the

free end and

Es d BT AT TG & AT, | oS & FHdreay 1 disrs ot o e v @ fala s w & arer &g &1 718 § a8 Yo & e gl § Jod ok W AR s W

Options:

1) (2w/od?) * |2 at the fixed end
(2w/od?) * 12 Afea 3ia &

2) (3w/ad?) * |2 at the fixed end
(3w/od?) * 12 e 3ia &

3) (3w/ad) * 2 at the fixed end

(Bw/ad) * 12 AR 3T &

4) (5w/ad) * 12 at the fixed end

(5w/ad) * 12 AR 3 &

Correct Answer: (3w/ad) * |2 at the fixed end
(3w/od) * 12 AR 37 &

Candidate Answer: [ NOT ANSWERED ]

QID: 194 -

The force in EC of the truss shown in the figure
below is

%ﬁ%ﬁ@ﬂf{@ﬂﬁ,mmﬁﬁmﬁ%ﬁmm

5t
4t

Options:

1) zero

T

2) 5t tension

S5t JoIra

3) 5t compression
5t Hf1se

4) 4t tension

4t Te1a

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjMwMTIwMTg=8&appid=1368062d74107fc05177712c90c3885¢c

56/58



15/02/2018 Staff Selection Commision

Correct Answer: 5t compression
5t gdiseT
Candidate Answer: [ NOT ANSWERED ]

QID: 195 -

In the cable shown in the figure below, the minimum
tension occurs at

dRfrmEd e s d Tor e e R A s

Options:
1)A

2)B
3)C

4) Between A and C
ARCHFIT

Correct Answer: C
Candidate Answer: [ NOT ANSWERED ]

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress
developed in the shaft is

T AIFE ST &T0T M 3R T 2 T O} T A1y 37efe §| envre & ATl SifRiehcd el delta & forw sifRienca sfehra daTa 7 3Hearel &
Options:

1) M/T

2) T/M

3) 2M/T

4) 2T/M

Correct Answer: 2M/T

Candidate Answer: [ NOT ANSWERED ]

QID : 197 - The shape factor of standard rolled beam section varies from

AT TGHT SIH IHHTIT FT IR FReh SHY et glell &
Options:

1) 1.10 to 1.20

1.10 ¥ 1.20

2) 1.20 to 1.30

1.20 ¥ 1.30

3) 1.30 to 1.40

1.30 & 1.40

4) 1.40 to 1.50

1.40 ¥ 1.50

Correct Answer:1.10 to 1.20
1.10 ¥ 1.20

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - In plastic analysis, the shape factor for a triangular section is

confEes fageivor #, Fhivir @s & AT 3R FT FRF &
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Options:
1) 1.5

2) 1.34
3) 2.34

4) 25
Correct Answer: 2.34
Candidate Answer: 1.34

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

ST r & 371 ool IHTRTIT FT FelkeT s AR AR Aers &, 3 T x
Options:

1)r/n

2) 2r/n

3) 3r/n

4) 4r/n

Correct Answer: 4r/n

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - A three-hinged arch is generally hinged at its supports and

T dIeT-TeaT aTell 3T AR W 86 FeR W AR 58 R B FFargiar &
Options:

1) at one quarter span

U TS It A

2) at the crown

APCW

3) anywhere in the rib

e 3 ol o

4) None of these

ST W HIS AT

Correct Answer: anywhere in the rib
R 3 ol o

Candidate Answer: at the crown
AP W
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